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As indicated before, a relationship has two directions.  Each direction must have:

A name associated with it, an optionality and a degree.

The name written in lower case is placed to the entity from which the relationship departs.

The optionality is a special type of line that connect the two entities.  This line indicates if one instance of one entity must be connected to at least one instance of the other entity. In this case the relationship is called mandatory.  If one instance of one entity does not need to be connected with at least one instance of the other entity the optionality is called optional. Since there are two entities involved, there should be two different lines, one for each line. However, these two lines are combined into a single line.  Each half of the line has a corresponding optionality.

A mandatory optionality is read "must be" and is indicated by a continuous line.

An optional optionality is read "may be" and is indicated by a dashed line.

The reader should bear in mind that these are just conventions.  At this point in the lecture these conventions may be confusing but hopefully we can clear this up in a few moments.
